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If the limit comparison test results in a limit of 0, then both series converge.
If a, --> 0, then = a, converges. [—
If the ratio test limit is 1, then the series diverges. —

If = a, converges absolutely, then X (-1)™"a_ converges. 7
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2. Determine the limit of each of the following sequences:
a.a, = nl/(1/3)"
b.a, = (1+4/n)"



3. Find x so that X (In X)" converges.
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4. If the nth partial sum of the series >a,is S, = (n-1 )I(2n+1 ), find Q..




5. Determine whether the following series converges: i nl(2n2 +n -1 )
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6. Use the integral test to determine the values of p so that the following series
converges: b (In n)pln
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7. Forthe following convergent series determine the minimum value of n so that S,

is accurate to within 0.0001. (-1 )“I(n 2“)
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8. Determine whether the following series converges absolutely >n/ (-2)"
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